3. The number of dust mites increases 2.5% each hour. If there
are 2000 dust mites now find the number of dust mites after each
amount of time. Round to the nearest whole nomber.
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6. The number of cases of flu is increasing 22% every 4 days. On

February 1 there were 176 cases of flu.
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b. Find the nmber of cases of flu on February 22.
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c. Find the nmber of cases of flu on January 25.
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4. Due to the heat the amount of water is decreasing 3% every 20
minutes. There are 150 gallons at 1:00 pm. Find the amount of
water at each time on the same day. Round to the nearest
hundredth.
J00 —3 =97/

a) 3:00 pm
= 0
lLpm J S:00pm = 2 hrs e=-77
2Ws =/20ms5 = 0 (—77>A
x: /ZOM%;Q N
Y= re0lrpe = X = 2 ma perios
Since /. 60pm
b) 10:00 am
5:30
IOOPM‘ID(OO(DéVVI* — 3hrs & b 530 ,Lf/hrs
oo PEap= 11e

- 3hrs = —L5OmiA 412 \arg = 270 min

B Gy KA
3 ¢ =(/773
3_-/50(?7 53/56(-97)/5'8:

7. Asingle celled organismdouble’ every 30 minutes. There
are 48 cells in the culture at 10:00 am™~kind the number of
cells at the given time, the same day. \D— o
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8. A certain radioactive material has & half-life)of 1.5 hours. At
noon is 500 grams of this material. Findthe amount of material
remaining at each time. Round to the nearest tenth.
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You can now finish Hwk #44 Due Monday

Practice Sheet: Exponential growth and decay.



